&

bl

FOH

-

=N

%

i)

16

i)

16

%

BTOMI A R ARG e R E R

TR

SERE284ES5 H 28 H (1) 10:00~
SER2845H29H (H) 10:00~

% BARERE
R A R R
TR BMBEHELREES

R AL, IR AE S EHRT TS



EOEBMEEELRESAEAS BFEAMAIN—L OB _
A B E & |N|1]|2]3|4]|5]6 é‘ ﬂii " Mﬁ REBR ) REE
1P |2 I X & EB|FH i | 1 4 V5 V5 V5 4] 3 0. 750 19 10[ 1.900
BEIKXKBETFHBH £ 28| 2|V V5 V5 V5 4] 4 1.000 20 9| 2.222
EIXKLEH £ E B3I|3 2 V5 V5 4] 2 0. 500 15 14 1.071
B OM OB OEEHm K M OE 4|1 o0 1 2 41 o] 0.000 4 20| 0.200
s w/E 28 K E[5]1 3 3 V5 4 1] 0.250 12 17[ 0.706

6
2PIZIT KBEBF B #H Al V5 V5 V5 3l 3 1.000 15 1| 15.000
EIRKLZEMR I #m % 2]o0 V50 3 11 0.333 5 12[ 0.417
E F fEE R X H 3]0 2 0 3 o[ 0.000 2 15| 0.133
BEIXKEE EOE H[4] 1 V5 V5 3/ 2 0. 667 11 5| 2.200

5

6
SPIZEIXABR B H X1 V5 V5 V5 3l 3 1.000 15 5| 3.000
BEIXKLZEFR E # ZF 2] :2 V5 V5 3/ 2 0. 667 12 8| 1.500
E Z OfE=@wm F B 3|1 1 2 3 o[ 0.000 4 15| 0.267
BEIKXKZEM & [E {42 2 Vb 3 1 0.333 9 12| 0.750

5

6
AP |1Z T KA BAXR & @M X1 V5 V5 V5 3l 3 1.000 15 3| 5.000
s B H H OFEF 2] 0 0 0 3 o] 0.000 0 15| 0.000
E 2 EH # Bl 3] 0o V5 V5 3/ 2 0. 667 10 8| 1.250
EIKXKZE®E B # X/ 4]3 Vvs 3 3 11 0.333 11 10[ 1.100

5

6
5PIE T K& EM B H L1 4 V5 V5 3/ 2 0. 667 14 1| 1.273
;3 BE k& 1\ 2| Vs 11 3 11 0.333 7 14[ 0.500
E ZF fEMH=EE EE3I|3 V5 1 3 1 0.333 9 11| 0.818
BEIKXKZEM & X 41 3 V5 V5 3/ 2 0. 667 13 7| 1.857

5

6
BPIZIT XA BX B =& |1 V5 V5 3 3l 2 0. 667 13 9| 1.444
i:3 BlAx &2 #®m zZ|2]0 2 0 3 o[ 0.000 2 15[ 0.133
E F fEH ™ # # 3|4 Vb 2 3 1 0.333 11 12[ 0.917
BEIKXKBZEE #h & F|4]|Vvs V5 V5 3 3 1.000 15 5| 3.000

5

6




FIOEZBMESFIRBEARETXRSE

RitZEEA
BFEAMRIIL—LDOE F:ET—ILIER

* B4 £ & W1 2345 6% B0 FELERTIE e
BIKXKELZEBHR & #H A[1|*x Vb V5 V5 3 3] 1.000[ 15 1115.000( 1
BIKXKBZEKRK & # X|1[*x Vs V5 V5 3 3] 1.000[ 15 3| 5.000| 2
BIKXKELER B =H X 1|*x Vo V5 V5 3 3] 1.000[ 15 5| 3.000[ 3
BIKXKELEBE M &N F|4(vs V5 V5 = 3 3| 1.000[ 15 5| 3.000| 4
BIKXKLETH & £ B2V x V5 V5 Vb5 4 4] 1.000[ 20 9] 2.222| 5
BEIKXK%EEH & ol 1]* 4 V5 V5 V5 4 31 0.750[ 19 10| 1.900[ 6
BIKXKLZEKX F &E P 4|1 V5 V5 3 2| 0.667[ 11 5| 2.200[ 7
BIKXKLEM B K H| 43 V5 V6 = 3 2| 0.667| 13 7|1 1.857| 8
EIXKLZBFE Z ™ T 2|2 x V5 V5 3 2| 0.667| 12 8| 1.500| 9
BTEIKRKEZLEK B =¥ X|[1|x V5 V5 3 3 2| 0.667| 13 9| 1.444( 10
BIKXKELEM B H Z[1|*x 4 V5 V5 3 2| 0.667[ 14 11| 1.273| 11
T 2 OEH E ] Il 3]0 V5 * V5 3 2| 0.667[ 10 8| 1.250[ 12
EIXKELZBH £ ZE B[3[3 2 x V5 V5 4 2| 0.500{ 15 14| 1.071| 13
EIXKALEE B # X/ 4|3 Vs 3 3 1| 0.333] 11 10| 1.100| 14
E ¥ fBlE ® & B 3[4 V6 x 2 3 1 0.333] 11 12| 0.917 15
E Z fEMmEFE E B33 Vb ox 1 3 1| 0.333 9 11| 0.818| 16
EIXKELZEBM B [E K42 2 V5 x 3 1] 0.333 9 12| 0.750| 17
i3 BlE & ml2|vs x 1 1 3 1| 0.333 7 14| 0.500( 18
TITRKEZBLE®R NI B Z£[2(0 x V5 0 3 1] 0.333 5 12| 0.417( 19
s ElE B KX E|5|1 3 3 V5 * 4 1] 0.250] 12 17| 0.706| 20
E 2 fB=@Wm F OB 3[1 1 % 2 3 0| 0.000 4 15| 0.267| 21
T MW OEHE K OB OE4[1 0 1 x 2 4 0| 0.000 4 20| 0.200] 22
E F fFE K X &H3[0 2 x 0 3 0 0.000 2 15| 0.133] 23
;3 BAx 2 # 2Z2|2|0 * 2 0 3 0| 0.000 2 15| 0.133| 24
s B OH O OE[2]0 x 0 0 3 0| 0.000 0 15| 0.000| 25

26

217

28

29

30

31

32




EOEBHNRESFRLAREAS
TR AL O
TYSFUALTALY b

No it & iy k)
[1] BN

VS
L] I |
N PG
[]grxsm]me mm]e
1| #pE s FOEE 3
[16] = = s [ el 2om]vs
12| 1 & # A V5
[o[mrirrm]ore x|
Orig MEx V5
L] I |
HEE R TN
L] I |
i KA o
[8 ]z rspm] mik x|
16| B A6
[s[mrrsm[vm o
T U VS
L] I |
6| e V5
L] I |
AW W3
BEETIEE W
1B[Fm fEss 3
(BlETAzE] 3 £ %8|
JELk EB Vs
L] I |
TN L FR 1
L] I |
EH KT 2
[4[mrrrm] e m ¥ 19
[slErxem]mm x|
M % 3
L] I |
8| M KEX 0
[o[mrremm ) w2
2( W MEX V5
[4]morpm] mm Kk |vs
14| & 5 C VI5
[11]morsm] moik 5 2|
g K 1
L] I |
9| & 2 V5
L] I |
A M2 Vs
[6[mrrem] & m 2 |
17| & B 2 V15
[7[zrirem] k¥ %9
KT B Vs
L] I |
10 KF #H V5
L] I |
Kifi @t 0
[o]mTasE] xH @+ ]
15| KF %R 6
[15] = % & [ 6w et |vs
MRS R
[8] m 5 [ 2 m 5|2
1 A® #HA 4
L] I |
A& WK Vs
[2[mrireE] £ ¢ w K]

W RS VIS

SEE L 18

K B 7

T S



FIREMESFFREEGHRERS BFEARTIDE
£

7o o & 3 N 123456 ét g.?i e M$ REBR | AEE
WPEIXLER B H X1 3 3 V5 3l 1 0.333 11 12 0.917
EIXRLZEH £ E B 2|V 4 V5 3 2| 0.667 14 10 1. 400
E 2 fE@=EaE EE3|v Vs V5 3l 3 1.000 15 8 1.875
BEIKXKBEXK £+ & P4l2 2 1 3 o[ 0.000 5 15 0.333
5
6
2PIZE T KBEBARX & #m X1 2 V5 V5 3 2| 0.667 12 9 1.333
LS BE & X B 2]V 2 4 3 11 0.333 9 12 0. 750
T 2 EH # Bl 3] 4 V5 1 3l 1 0.333 10 12 0.833
BEIKZEM & KX H|4]2 Vvs Vb 3 2| 0.667 12 10 1.200
5
6
BP(BET K& EM B H L1 V4 V5 V5 3/ 3 1.000 14 6 2.333
s BH OH H OFE2]1 3 4 3 ol 0.000 8 13 0.615
T M OB OEEHm K M A 3|2 V4 1 3l 1 0.333 7 13 0.538
BIKRKBEMWR I # %£|4]3 Vs Vb 3 2| 0.667 13 10 1. 300
5
6




FIOEZBMESFIRBEARETXRSE

RitZEEA
BFEAAMRIROE FRT—ILER
* B4 £ & W1 2345 6% B0 FELERTIE e
EITXKALEB|M B H Z[1|x v4 V5 V5 3 3| 1.000f 14 6 | 2.333| 1
E F fEMEF EE3I[(V VE x Vb 3 3| 1.000f 15 8 | 1.875] 2
EIKXKELEH L E B2V *x 4 V5 3 2| 0.667[ 14 10 | 1.400[ 3
BEIXRKZEBAKRK & # KX[1[* 2 V5 V5 3 2] 0667 12 9 | 1.333| 4
EIKXKALEMWRE NIl 8 &£ 4|3 V5 V6 3 2| 0.667| 13 10 | 1.300] 5
BEIKXKLEM & K H| 42 Vs V6 = 3 2] 0.667[ 12 10 | 1.200( 6
BIKXKELER B =H X 1|*x 3 3 V5 3 1] 0.333[ 11 12| 0917 7
S S ST E ] Il 314 vs * 1 3 1] 0.333[ 10 12| 0.833| 8
1} BE 2 KX REl2|V3 x 2 4 3 1] 0.333 9 12| 0.750] 9
T MmO OEH K O E|3[2 v4 ox 1 3 1] 0333 7 13| 0.538 10
s EF OH OB OE| 2|1 x 3 4 3 0] 0.000f 8 13| 0.615 11
BEIXRKEZLEBKRK F & F4|2 2 1 = 3 0] 0.000f 5 15 | 0.333 12
13
14
15
16
17
18
19

N NN NN
S~ W N = O




EIEABNESEFRBEKETAS
BB NGO
IYIFTFTaLI b

No FF & K 4%

| |BzxeE |mE g |v

ek ME V5

3|k FE V15

[olwis  [®® xm |vs
188 K&t 0
BEEREET Y
7)ok HE 7
| s[BTx2E R B |V
w4 3
L | | |
4K X 12
L | | |
AE K V5
[(JETxz8[x& A |V
10|BE $%
[ SBIXEE L BB |V
FL BB 3
L | | |
5| AH 7
L | | |
Mgk KH#E V5
[e[BTx&E [mE A% |V
8|FE HXE V8
| [z xeE[Em g% |
2FE #E V5
[o[BmmEs (K 98 |2
6FE HXE V9
L | | |
WEE HE 2
[2[=%m® [w== 856 |V
A& WA 1
SR E o|inpE K

g K3 Vi5




ENEOBMESEERBERERS BFEARRY—TILDOE _
7o o & E & | 23|45 ]6|H b e M"‘é REBR | AEE
1P |2 I K& EFH i5 o 1 V5 V5 V5 V5 41 4 1.000 20 5 4.000
EIKXKLZEM B E B2 1 V5 V5 4] 2| 0.500 14 13 1.077
BEIKXKBEBE X B X|3 V5 V5 V5 4] 3] 0.750 16 8 2.000
E 2 OEHE R X &4 301 V5 4 1] 0.250 10 17 0.588
i3 HEZN 2 1\ 5 0o 1 2 4] 0| 0.000 3 20 0. 150
6
2PIZ T KBEBHF B #H Al V5 V5 V5 3l 3 1.000 15 5 3.000
E 2 R @ # B2 V5 3 3 11 0.333 9 11 0.818
E 2 fE= @wm F B3 1 1 3 o[ 0.000 4 15 0. 267
BEIKXKBETFEHBR £ % &4 V5 V5 3 2| 0.667 12 9 1.333
5
6




FIOEZBMESFIRBEARETXRSE

RitZEEA
BFEARRY—TILOE FET—ILER
res | B & w123 45 o)y BRI RS e
B I K% EH f 2| 1] * Vs V5 V5 V5 4 4] 1.000] 20 5 | 4.000
BIKRKLZEH B #H Al1|[*x Vs V5 V5 3 3] 1.000 15 5 | 3.000
BIKXKLZERE X B K31 Vs * V5 V5 4 3| 0.750[ 16 8 | 2.000
EIXKALZEB|FH & £ H4[2 Vs V5 x 3 2] 0.667[ 12 9 | 1.333
BIKXKLZEM & [E B 23 *x 1 V5 V5 4 2| 0.500] 14 13 [ 1.077
E ¥ fBHE ® & #s 21 = V5 3 3 1| 0333 9 11 ] 0.818
E 2 f#BE R X & 4|1 3 1 x V5 4 1| 0.250[ 10 17 | 0.588
E 2 = @Wm F O#H3[2 1 x 1 3 0] 0.000f 4 15 | 0.267
i3 BE & w50 0 1 2 = 4 0] 0.000f 3 20 [ 0.150

— — — — — e e e e )
© ® 1A > A DDo .o © XN ol AW =

NN NN DN
S~ W N = O




FNEZRMNESFFIRLEARTRE
BTEAK A —T LD
I)IFVFUTF4LY b

No BT B K 4

B E N

ZF e V15
L | | |
4% BEE V15
| 5|BTx%E |[mE EE |3
1| FEH E2E 1
| 4[BITALE [THE EH2H#Vs
1% e
| 3BIAEE [BEX BA |V5 —
2)BX BK vis
| sz |m# 8 |o
5|B% BA 9
REEREEESAR
3|8 A 9

BT IEEEINING

ER  EEHE 11
SR T 6|hE A
s A VIS




FIEEMESEZREBEARETRE RFEAMPAIIL—LDER _
7o o & £ & M| 1|2]|3]|a|s|e|2 BI® M"‘é REBR | AEE
1P|Z 1 B XL O F0O 51 2 V5 3 0 4 1 0. 250 10 13 0.769
T MBE OE®R B B Hl2]|V V5 V5 3 4 3] 0.750 18 10 1.800
T MM OEE B O # X 3|2 3 0 V4 4 1 0. 250 9 18 0. 500
E 2 EK B 4 Dl4]ve 1 Vb 4 41 2 0. 500 14 13 1.077
s B|H * E|5]Vv2 v4 3 V5 4] 3] 0.750 14 11 1.273

6
2P |Z M B EKK E BF H| I 2 V5 V5 1 4] 2| 0.500 13 15 0. 867
T M B XX FE B IL2]|Vs V5 V5 2 4 3| 0.750 17 8 2.125
X ElIKXK d = %[3]3 2 V5 V5 41 2 0. 500 15 16 0.938
E ¥ fBlx I = F[4]2 1 2 1 4 o 0.000 6 20 0. 300
s BE X £ H|5]vs V3 4 V5 4] 3] 0.750 17 9 1.889

6
3P (18 BT H ¥ EF 4 1 V5 3l 1 0.333 10 11 0.909
2 OMmorE EN OB B Y V5 0 V5 3 2| 0.667 10 13 0.769
E Z fHlEH HHBLF V4 V5 V5 3l 3 1.000 14 5 2.800
s BE B B = 2 4 4 3 ol 0.000 10 15 0.667

oSl AW N




FIOEZBMESFIRBEATRR

RitZEEA
TFEARATIL—LDE F:BT—ILFER

% 4% & E & (M|1 2 3 4 5 |2 BB SN2 BIREE gy
E % fFEHB B F[3[v4 Vs x V5 3 3] 1.000[ 14 5| 2.800| 1
B M O®m OEX FE & K| 2(V5 x V5 V5 2 4 3| 0.750] 17 8| 2.125| 2
s BB A fE H[5|V5 V3 4 V5 % 4 3| 0.750] 17 9| 1.889| 3
T oM B El® B B &l 2(|(vs x V5 V5 3 4 3| 0.750[ 18 10| 1.800| 4
e | & *x H| 6 |v2 v4 3 V5 % 4 3| 0.750 14 11] 1.273] b5
T OB OEN OB B O 2(vs x 0 V5 3 2| 0.667[ 10 13| 0.769| 6
E 2z fEXK B & Dl4|va 1 Vs % 4 4 2| 0.500{ 14 13| 1.077| 7
X RIK d = F|[3]|3 2 x V5 V5 4 2 0.500] 15 16| 0.938| 8
B M OB OEX E OF OE[1|x 2 Vs Vs 1 4 2 0.500{ 13 15| 0.867| 9
g BN EEF1]*x 4 1 V5 3 1| 0.333[ 10 11| 0.909( 10
T M OBE EFEWO FTOAT|[x 2 Vs 3 0 4 1] 0.250[ 10 13| 0.769| 11
B OMOB OFHE B # E3[2 3 % 0 V4 4 1| 0.250[ 9 18] 0.500| 12
s BE B OB E|4]|2 4 4 % 3 0] 0.000[ 10 15| 0.667| 13
E 2 R I = F4(2 1 2 x 1 4 0 0.000{ 6 20| 0.300| 14

15

16

17

18

19

NN NN DN
S w N = O




FIORIZHMESEERRERETRSE
LAl N7 L — L DD
ITYIFoAoTaLY B

N B & K 4
HEEEEEEER
BE SHHE V5
L | | |
3BE #MHHE 9
| o|lBamg |x Bx% |1
Kt =% 1
| 8|k ESEE NG
Nk B& W15
Bz EEIEE
il 3
L | | |
4k BH V15
L | | |
Bk FE W
| a|Bamg |oE 28 |V
10|%5% 25
| 3] B 55 |V
B g5 4
L | | |
51 i 5
L | | |
Jius i V5
IBEEEENITE TR
8| KT B\ 12
EESEECEEIE
AR EE 3
L10]ns% EEEZEALE
6| KF BE V15
L | | |
K¥E BL V5
[[znEz [xF B®E |V
BE #F V5
SREH 9|BH WthE

NG 3

9




FIEEMESEZREBEARETRE ZF AN AT DE _ _
7o o & E & |N|1]|2]|3|4]|5]6 ét g.?i e M"‘é REBR | AEE
1P |Z %1 B (| B # X1 3 1 3 2 4] 0| 0.000 9 18 0. 500
T OM OB EWLDO FO A 2|V V64 1 4] 2| 0.500 15 17 0. 882
F M B OEKXK T B LK3|Vs 4 11 4 1 0. 250 11 13 0. 846
X BRlK 4 %= E[4]vs v V5 V5 4] 4/  1.000 20 9 2.222
E 2 fEK H & D5V Vs V2 1 4] 3] 0.750 11 9 1.222

6
2P |Z M B EKK E BF H| I V5 1 V5 V5 4] 3] 0.750 16 13 1.231
OB EN W’ ' 2] 4 2 V5 3 41 1 0. 250 14 17 0. 824
FPRAPRIEX Z F 13|V Vb V5 V5 4] 4 1.000 20 6 3.333
T ¥ fHBEAH HHLF|I4]2 2 2 V5 41 1 0. 250 11 19 0.579
s wBE B B FE| 5|2 Vvi 1 4 4 1 0. 250 12 18 0. 667

6




FIOEZBMESFIRBEATRR

EitZEE4A
ZFEARRIROE FET—ILIER
% f% & E & (M|1 2 3 4 5 |2 BB SN2 BIREE gy
FRRXPREE X Z F 3|V V5 *x V5 V5 4 4 1.000] 20 6| 3.333
X (X d4 = E|4]|V5 V5 V5 * V5 4 4 1.000[ 20 9| 2.222
B M OB OEX & F OFE|1|[x V5 1 V5 Vb 4 3] 0.750[ 16 13| 1.231
E 2 fEK B A D|5(vd Vs V2 1 4 3] 0.750[ 11 9| 1.222
Z M O®m EFWLO FOA2(V x V5 4 1 4 2 0.500[ 15 17| 0.882
B M O®m EX FE B L3[4 x 1 1 4 1| 0.250[ 11 13| 0.846
oM oEm OF/N W\ B O 2[4 x 2 V5 3 4 1| 0.250| 14 17| 0.824
s BE B R E[5|2 Vv 1 4 x 4 1| 0.250[ 12 18| 0.667
E % fFEHBH HHLF[4[2 2 2 x Vb 4 1] 0.250] 11 19| 0.579
O OB ORI HBH M OF1[x 3 1 3 2 4 0] 0.000f 9 18] 0.500

— — — — — — e ) e )
© ® 1 o> A DD~ oo © XPMIN o ol AW =

NN NN DN
S w N = O




FNEZRMNESFFIRLEARTRE
-G & PN S eI SN
TYIFIFUF4LY b

No BT B K 4

| |hmkdx [BE ZF0 V

BXx ZF1tvis

4|BEXx Z=F1E Vi5

| s|Bmmg o Fua|vi
1A £Fu5s 3
| 4|Z=5 |XkB 5o |o
NBE ZFit
| s|Bmmg Xz E®% |vs
2K BEx 3
| s|2mmEe |[XF BE |4
5|kt £k 7
EREEEEITEEERE
3| Kk =k vis
| 2|xm ESAEZINE
wa £Fuos 12
SR EE 6| KiE BEX

K BE vis




ENEOBMESEERBERERS ZFEAMAY =TI OB _
7o % B & £ & M| 1|2]|3]|a|s|e|2 BI® h REBR | AEE
1P |18 B|H * |1 V5 V5 V5 V5 0 5 4| 0.800 20 12 1.667
s BN EEZF 2|1 Vs 1 V5 0 5 2| 0.400 12 18 0. 667
s BE X £ FH| 3|2 2 4 V5 1 51 1 0. 200 14 20 0. 700
T MBE KR B B El4]4 V5 V5 V51 5 3] 0.600 20 15 1.333
E % fElx I = F|5]0 1 0 0 2 5 o 0.000 3 25 0.120
2 @B X /LB Fon6]vs vi vs Vs V5 51 5 1.000 25 4 6. 250
2P 1

S Gl BN




FORBAREELRBEHREASR
RitZEEA
ZFEARAS—TILOE FTRT—ILER
. E & (M|1 2 3 4 5 6|2 BB SN2 BIREE gy
2 H X A/LBE FToH6[(Vvs Vs Vs Vs Vs x| 5 5 1.000 25 4| 6.250
1} /& * | 1|=* vs vs v5 V5 0| 5 4| 0.800] 20 12| 1.667
T M OBEm ¥R % B B|4|(4 V5 V5 x V5 1| 5 3] 0.600] 20 15| 1.333
s B R EEZE2|1 % Vs 1 Vs 0] 5 2| 0.400[ 12 18| 0.667
s w|E KX E H| 3|2 2 % 4 vs 1| 5 1| 0.200[ 14 20[ 0.700
F 2 fE% I £ 5[0 1 0 0 % 2| 5 0] 0000 3 25/ 0.120

— — — — — — e ) e )
© ® 1 o> A DD oo © oo w N =

NN NN DN
A w N = O




FOEBIRSFFREEATA=
LA BN — 7 L OB
IYSFIALTALY b

No BT B K 4
[1[gmxa [WE Fos v
WH [FDh Vvis
L | |
2(lLE [FDOH Vi5
BEE [EA &5 Vs
B &5 3
| 4| EEEEER
5
| s[EnEgE |#@m =& |v
®k BE vis
L | |
3 BB 1
L | |
xR 8
| 2| EETIE
BR 5 8
LR TEEL 4
F KW Vvi5

WA [F0H

& K



FIEZMBESFFRMERETRS

BFER DR

¥R A K 4 N.|]1 2 3 456 TD | TR | Bk
PSR - B At () 4 3 7 10 0
g | M W | 2 AR 0 2 2 5 0
¥R [whEmom EOME| 3| &% 11 0 2 2 10 0
= W & M Wz 25
. . F i |4 V5 V5 [Fams 1 10 2 2
é%@é%é O fE s | 5| V5 {5 A5 5 5 4 1
m2ogs | TR # A 6|VS V5 ¥ 25 10 | 5 2
A & #Hm K ezt 11
¥R A K & N1 2 3 4 5 6 TD | TR | B
E) S IR I VRN 7S | 3 V5 2 10 8 1
FHESIME | A % 2| 2 |[EABE 5 V5 V5 V5 15 5 3
FESEER | g wok ER | 3| K 31 1 V5 0 6 10 1
Wz 23
&2 K | 4|V5 4 V5 F—LEC 0 14 9 2
55 I ST RS 5 (PNt
MR A O % | 6|V3 1 V5 28 23 9 7 2
W 16
R4 K % N |1 2 3 4 5 6 TD | TR | M
I A B I ML B A O V5 V5 10 0 2
é%@éfg OmE fE s B 2 [MABEK 5 V5 5 4 1
2 g A & W K3 &K 25 V5 V5 10 1 2
i it [ weZEE 5
A S N I 4 1 F-LEC 0 5 10 0
55N R ST 510 H A2 0 0 5 0
MRS | m o k|60 0 % 5 0 10 0
BeZeE 25
¥R 4 K % N |1 2 3 4 5 6 TD | TR | B
PTG I - B B AN - | V5 V5 10 2 2
EERfEES (A W il | 2 | 5 V5 5 2 1
¥R [ #hEow EOME| 3| 2 25 V5 V5 10 0 2
= W & M Wzt 4
ik E K AR | 4 2.0 F-LBE 0 2 10 0
BRSNS | JEE H15]10 (EPN; 2] 0 5 0
FREFR AR £ ®m 2|62 0 g 4 2 10 0
weZeE 25
¥R A K & N |1 2 3 4 5 6 TD | TR | B
. \ #* i |1 a1 V5 V5 10 0 2
?Zﬁﬁé A 4 m OK| 2 [EABK 5 V5 5 1 1
sk | ROM # %[ 3| # 25 [Vs Vs 0 | o | 2
O oA S
F ik #OK AR | 4 1 0 F-LBE 0 1 10 0
FOHIESIME | K m|15(0 EH A5 0 0 5 0
FEREF | A 2 #m 2|6]0 0 g8 1 0 10 0
Wz 25




1 2 3 4 5 6 TD | TR | B#
F-bE 1 V5 V5 2 12 5 2
(PN 4 V5 9 5 1

Ze4 31 V5 V5 10 1 2
Wz 11
0 V5 0 F—LEE 0 5 14 1

(EEN7 O
V5 1 7 11 6 7 1
W 21




—_—

F70E EHMESEHEFZRE

BHREXRE Tz UHE BFFRATIOAR

F-LBH B ANBH LEANREH BEAREHR
2R A No. 2 3 F-LEAH BEARASY REARES BARS K| B
VFE+-M-E V+I+M-1 TD-I+TR-1 TR-I1+ M-I
V-E: 1 [VveE: 1 |V:E: 1 | V-E: 3 v 15 TDeI: 75 TR 17
T LRABEZL Vi 5 | vel: 5 | v 5 |ME: 3 ML 15 TR 17 M 15 | 1
TD-I: 25 [TD-I: 25 |TD-I: 25| IND: 100 IND: 100 IND: 441 IND: 1.13
V-E: 0 V-E: 1 [V-E: 0 | V-E: 1 Vel 5 TDI: 36 TR 73
WS MR m |2 v 0 Vi 5 | v 0 | ME: 3 M-1 19 TRI: 73 M-I 19 | 3
TD-1: 1 TD-1: 31 |TD-1: 4 | IND: 033 IND: 026 IND: 049 IND: 3.84
V-E: 0 | V-E: 0 V-E: 0 | V-E: 0 Vel 9 TDO: 39 TRI: 87
BN s |3 (v 0 v 4 V- 5 | M-E: 3 M-I 21 TRI: 87 | M-I 21 4
TD-1: 5 |TD-I: 23 TD-I: 11 | IND: 000 IND: 043 IND: 045 IND: 414
VE: 0 | V-E: 1 |V-E: 1 V-E: 2 Vel 7 TD-l: 67 TR 87
EEEEHSEERI4 v 0 | v 5| v 2 M-E: 3 M-I: 21 TRI: 87 | M-I 21 2
TD-1: 11 |TD-1: 25 |TD-1: 31 IND: 067 IND: 033 IND: 077 IND: 414

VAE:F—bB5 M-E:F—03A% V-LEARE M-1EAGRAEE TD-LEAZE5 TR-I: M AR Z25 M-8 NG A%k




EIVEESHRBE TFERATDOI

K 4 N. [ 1T 2 3 4 5 6 TD|TR|B%
EH ShEFE| | TR 1 2 V5 V4 1m | 10| 2
wmeepam | KB oo 2 [EABE 5 0 V4 V5| 9 | 10 | 2
FER g o & 3| o 2 1 V5 6 | 7 | 1
wezE 27
% B H EH | 4|V5 V5 V5 F-bt 0 15 | 3 3
%iﬂ-ﬁé K {% %52 EABE 3 2 | 5 | o
Eaeags | KOSE Mg K63 3 2 28 27 8 | 13| o
JILug By 2 WZE 26 2 5 0
K 4 No.| 1 2 3 4 5 6 TD|TR|B%
EOR B |1 | FaBk 0 1 V5 1 7 | 12 ] 1
K E & X 2 [FEABEK 2 4 V5 9 5 1
Ko IR | 3| & 24 4 4 8 [ 10| o
A fFos st 27
B OAR  fE | 4|V5 V5 V5 F-bBE 1 15| 9 3
B OEEZF|5|2 0 BAE 5 2 [10] o
#* *  Fi| 6|V V5 8 27 0] 5 | 2
HF B Ok £ W 24
K 4 N. [ 1T 2 3 4 5 6 TD|TR| B
FR Z I T R T N G| 2 V5 V5 12 | 7 2
%%g% & A fE S| 2 |mABK 5 V5 V5 3 13 8 | 2
oy | H ORS00 ORR E| 3| B 36 3 V5 3 1| 1 1
FEB R A ZE weZet 26
EH MHhFE| 4|V5 3 V5 F-b 0 13| 10 | 2
wmepppm |0 &5 10 1 AR 4 2 [ 15| 0
FER ok o o6 1 VS V5 S 26 1111 | o2
ZE 36




mes 3
F-LBH B ANBH BLEARH BEAERREHR
R4A No. 1 2 3 F-LEAH EBAREGHE REAHEER B ARSH|IE:
V-E+*M-E V+I+M+1 TD-I1=TR-1 TR-1+ M-I
V-E: 0 |Vv-E: 0 | VE 0 Vel 5 TDI: 51  TRI: 53
ﬁ%ﬂpﬁ%ﬁ%g& 1 v 3 | v 2 | ME 2 M-I 15 TR 53 M-k 15 3
TD-1: 27 [TD-1: 24 | IND: 000 IND: 0.33 IND: 096 IND: 353
V-E: 1 V-E: 0 | ViE 1 Vel 9 TD:I: 53 TR 63
EREEmESER] 2| v 5 Ve 4 | MeE 2 M-I 17 TR 63 M-I 17 2
TD-I: 26 TD-I: 27 | IND: 0.50 IND: 053 IND: 084 IND:  3.71
VeE: 1 | VeE: 1 V-E 2 Vel 10 T 63 TR 51
uf@iﬂ% é?“?ﬁﬁ 3(vie 5 |vi 5 M-E 2 M-I 114 TRI: 51 M- 114 | 1
TD-1: 27 |TD-1: 36 IND: 100 IND: 009 IND: 124 IND: 045

V-E:F—=05 M-E:F—2AGE V-LE A M-LEAGASE TD-LEAZE5 TR-LAE 25 M-1: {8 NG5

2016/5/30



FORBNMESFEIRMREARET IO VI HBEAE BR

BFEARIIIL—LDER
K%

E14 HF o
g2 $E A
E 3 SR {E s
T4  KFE EH
BFEARRIRDE
B4 FRA X
$F2 ik HE
E36  EE K
F446L KE 8K
BFEARRY—TILOER
E14 F o
FE26L BXx &KX
¥E3 $E A
Al FEHE EHR4H
ZFEATRTIL—L DEB
K4
B ®E BE
322 v RE B
3L EE HHE
g4k JIlE B
TZFEARITIRDOER
3R B&x ZF1E
322 (v Kt E%k
3L KE BE
F£4461 O F¥UAb
ZFEANF IR —TILDE
T4 WA Z0h
322 (v ®ik B&
EXCIAE S
4l BEX E5H
BF 2R DER
=2t S
Rk
21
E 31
F44L
TFEROER
FR4A
F14 £l
24

3L

BNMIRARZRESFFIR

EPEBFPR

BRI HESSLR
BARYIBEE LR

BB SR
EPREEIR

BMRIBMBRSFFR

FR4

F4

BMIRKRFLRESFFR
BMIRXRKPHAESFFIR
BMIRKRFLRESFFR
BNMIRKRPAESFIR

BMIRKRFLRESFFIR
BMIRXKPHAESFFIR
BMIRKRFLRESFFIR
BNMIRXRKPAESFIR

BMIRKRFHRESFFIR
BMIXRKPHAESFFIR
BMIRKRFRESFFIR
BNMIRXRKRPAESFIR

BRI ENELBEER
FHRTBABESS LR

T mymmsen
EHRTBNEESSLR

HRAXFHBEPREEFAR

KBS FFR
BMREIBMBRS FFK
BNRIBNERSFER

SHXASFFR
BNMRIBNERS FFER
BRMRILISESFFR
BNMRIGBESFFER






